n 0.05
@
2.045F
©
2,0.04F
£
-@.035—
= =
5 0.03
©.025
£0.02
(&]
9,015
wn
0.01

0.005

.......................................................................

10

Ratio

1.1

80 100 120 140

Pileup

—=— DQM_original_stepZ_tibar-phaseI-newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
re5_step2_ttbar-phasel-newgeom_test

—+— DQM_pixelCPETemplateCutChiSqua
(%) 0.2_ T T T U. U0
@ C : : o
O | R S 9.045
O L] | RS 50.04
£ - : £
< R ST SUNRTRORRUURUIN SO ST
8 0.14f ?.035
= I T SUURTURTUNTUUNT] SN DR —
& 0.12F £ 0.03
X r X
@ 0.0F b S R ©.025
F O e S | R §0.02
3 C : : o
g0.062— --------------- o AT 1 N (-;):9.015
o e s E B SR 0.01
F s #* :
0.02f e P T s SR o 0.005
9 J-O- 1 1 |||||; 1 |-"-|||| 1 L 11l 9 J..Q
IS 1117 IS
@ 1.05 ST g
1 4 :.- : -0-" """""" 11
0.95E ad ik 0.9
107 10 -

_________ *

RIS




	Contents
	Page 1


